RETFAN XFHA BEX x OFHE 02

1. x B L TET. (S50, A1 108, B 13740%, CHh27520% )

(1)x><%><:c 2) bx (~1) xa

(3) axaxaxaxa (4) exexexaxcexbxa

(5) (x4+1) x (x+1) x (=1) 6) 2xz4+yxl—zx4

(7) axz—2xyxyxy 8) z—1xyxy

(9) QI+z)x(1—2z)x3+1xzxy (10) (z—y) x(x—y) x204+3 -z —y
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2.

X BEMLTET. (S50, A1510%, BH#14740%, C#24520% )

1) z x (—%)xy 2) bx(=1)xb

(3) sxzxrxzxexz (4) exexbxbxexbxa

(5) (x—1) x (x—1) x (-1) (6) ax3+bx4—cx1

(7) exzx(=1)—yxy 8) 1—zxyxy

9) (a+1)x(b—1)x24+1xaxa (10) (a+b) x (a+b)x5—-1—a—b
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RETFAN XFA BEEX x OflE 02 BIEES

1. x B L TET. (S50, A1 108, B 13740%, CHh27520% )

* XFADKR (FE5DEH)

© x%z#ET. fl —-3xx=-3x
@ BFEENICHES. #l ax4=4a
® 11348 Ts. #l —1xz=-2
@ CFRHEATLVT7 7Ry FIEICTS. #l cxbxa=abe
® 2VEEFHEHTELS. Hl rxzxz=23
® () LN RF12OXFOLI S, #Hl 2x(z+1) x (z+1)=2(x+1)2
(1) 2% +xa (2) bx (1) xa
:lmz :—ab
(3) axaxaxaxa (4) cxexexaxexbxa
=a® = a?bc?
(5) (x+1) x (z+1) x (-1) 6) 2xz+yxl—2x4
=—(z+1)2 =2z +y—4z
Yo () DHFD 1ITEHMTE 0. YT+ T— ZATER .
(7) axz—2xyxyxy 8) x—1xyxy
— 22 — 293 —x—y?
9 I+2)x(1-2)x3+1xzxy (10) (z—y) x(x—y) x20+3 -z —y

=31+z)1—x)+=zy =20z —y)’+3—xz—y



X BEMLTET. (S50, A1510%, BH#14740%, C#24520% )

1
_ = 2 —1
(1)3:><< 3)><y (2) bx (1) xb
B) zxaxxrXxTXTXT (4) exexbxbxcexbxa
=z = ab3c?®
(5) (z—1)x (z—1) x (=1) (6) ax3+bx4—cx1
=—(x—1)2 =3a+4b—c
Yo () DD 1 IZEMTE . e T4+ T— IZAKTE R,
() zxax(-1)—yxy 8 1—zxyxy
:_mz_yz zl—myz
9 (a+1)x(b-1)x2+1xaxa (10) (a+b)x (a+b)x5—1—a—1b

=2(a+1)(b—1) + a? =5(a+b2—-1—a—-0>



